20194 7R 30H

FHEREHECEIKHABNESORAEIZOVNTCIAEK)
(201959 A #dt &)

BIAH %R
(INFEZEERES :B0003)

LHTIH. ABEELI=2019F4A N 5201956 B D EHFREEMERICEDE, 2019FIABE DDA RH
£ (BEAHE)ZE. 2019F8 AR ITHEARNTMBY272HFEHR) T AIZABRIE TV EELRYEL
=T, BHE5EWN=LET,

CNIZEY ZBERE(NTAHEVIIMIER) ~ADFEIL., 2019F8 A7 ELEEL T, 30HDIET
(FERYET,

O—RZH K £ GHERIA)
- HEARH S BArHE£. m) SLEEE
= VAN =
ERERS (F/8) ) 5 A (F. ™)
HERA omm»s 23mET 900.72 227.14 229.86 -2.72
HERB 23M%EBA134MET 1,285.20 210.81 21353 -2.72
#ERC 134mM%EBZ556 3,164.40 196.79 199.51 -2.72

CEOZADIHEAZICELT A~COZHENBERINET,

OEZEREICEITH2E CHERA)
158D ERE IBDHA¥E SEADH RS SLEEE
11m 3,399 { 3429 M -30 M

(R REREOAAERAERL. FR26FEDTFEAERMBIEITHELTVET,

*HAMEDHERE

N _| EXEE BT & =
[”XﬂﬁJ . [ (B55A) ]+[ (BAEBHS BR) + FNREEICIIWEE D) ) ] x[ emE ]

(ARBOVET




<BEEH>

LR[BS DLT

<EMFERFHEEROE LK >
EH R FEHEmAS = LNGEH{@EHE  x09503 + TO/NVEHHEE % 0.0546
= 54,270 (1) x0.9503 + 56,080 (9.1 x 0.0546
= 54,630 (M. t)(10MkmEEEA)
BEEHERDEIR (P
20192485 ~2019%F68 | 2019Z3H ~2019%58 [ —
(95 18t 5>) (8 5 1t ) i ol
E R FEHmAS 54,630 57,620 58,680
LNGF (i & 54,270 57,370
O/ EH 56,080 56,750
[REMEEEEIZE = I 5 JR R A% — HEFHEPMmE
= 54,630 (F3.1) — 58,680 (9.1)
= -4,000 (M. t)(100MkE T2 T)
2BEAHESDREIZDOINT
<HBfFHEEDEHA>
HAHe = HEBMHE + BT R SRR
BapEHgs = 0.084 (m. ) X [RFHmEEENEE /100 (M. X (I+HEWR=E)
= 0.084 (m.n) X -4,000 (gt /100 (M1 X 1.08
= -3.63 (B ) INR R B IRILLF D) I
(%) E MBS 2 ENIZE100M /tIZDE ., 1M $HT-Y0.084HFHELET
(B m)
HEHMHE ==Rivk S5 HHE ] IR B E
HERA 230.77 227.14
#EXRB 214.44 -3.63 210.81
#ERC 200.42 196.79
CEEBLA)

(FRHBEREHEDOHE]

@ ABL—MORAMBOESHEFICLIRFHAROESITIISLT. BAAANEDOEMHE (1 MbHT-
YR EHETSHETT

® [EEFHRAEHE (58,680 t) |&M FHFFMEIEREEM A D57 ARIA L3S, ARTD 34 A T 1
[ZEFABLNG, 7O/ DEMAMBIVETE) IEDZEZEICEDONT, FRERDOZEEN100MIZDE. 1
m&1=Y0.084 M B £ EFHEN-LET,

@ FRHEEDEBCDOLTIE.LNG, TANVELE BT ERICIVET,

@ HEDKIELLFERTHI=6. [ TFHREHE 1/5393,880H (LRE) B X =158, TEHR
$HEHE 11393,880HEL THRBE DABEFITIVET,



